
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Exponents (Negative Exponents)

(−1) + 3 =2 (−3) + (−1) =(−1)

10 + (−5) =2 2 − 8 =(−2)

(−10) − (−9) =2 (−3) − (−10) =(−2)

7 − 6 =2 9 − (−7) =

10 + (−9) =2 10 + (−2) =(−2)

5 + (−4) =0 8 + (−2) =(−2)

10 − 7 =(−1) (−2) − (−3) =2

6 + (−7) =(−2) (−10) − 8 =

(−4) + 10 =2 8 + (−3) =0

6 + (−8) =2 (−7) − 10 =(−2)
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Exponents (Negative Exponents)

(−1) + 3 = 42 (−3) + (−1) = (− ) = (−1 )(−1)

3
4

3
1

10 + (−5) = 952 2 − 8 = (− ) = (−7 )(−2)

4
31

4
3

(−10) − (−9) = 1092 (−3) − (−10) = = 10(−2)

9
91

9
1

7 − 6 = 432 9 − (−7) = 16

10 + (−9) = 912 10 + (−2) = (− ) = (−1 )(−2)

100
199

100
99

5 + (−4) = (−3)0 8 + (−2) = (− ) = (−1 )(−2)

64
127

64
63

10 − 7 = (− ) = (−6 )(−1)

10
69

10
9

(−2) − (−3) = 72

6 + (−7) = (− ) = (−6 )(−2)

36
251

36
35

(−10) − 8 = (−18)

(−4) + 10 = 262 8 + (−3) = (−2)0

6 + (−8) = 282 (−7) − 10 = (− ) = (−9 )(−2)

49
489

49
48
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